Kindly note that the following revisions are made to the advertisement for 'Selection of Dealers for Regular and Rural Retail Outlets in Tamil Nadu – 2023' released in website www.mdsp.co.in on 29.07.2023:-

1. **Revision in Definition of Location**: The definition of locations 47 has been revised and the revised definition is as below:

Sl.No	Name of the Location	District
	On SH 189, between SH189 - NH81 Junction and Karuppannan Mariappan	
47	College, Muthur	Tiruppur

The applicants are requested to peruse the above tabulated revisions prior to submission of application.

For the information of the applicants.

Kindly note that the last date for submission of applications for the advertisement 'Selection of Dealers for Regular and Rural Retail Outlets -2023 – Tamil Nadu' is extended to 30.11.2023, for all the locations whose current last date for submission of applications is prior to 30.11.2023. The locations whose prevailing last date of submission is after 30.11.2023 will continue to retain the existing last date for submission.

Please visit website www.mdsp.co.in for the details.

Kindly note that the following revisions are made to the advertisement for 'Selection of Dealers for Regular and Rural Retail Outlets in Tamil Nadu released in website www.mdsp.co.in on 29.07.2023:-

Revision in Definition of Location: The definition of locations 88,207,225,107 have been revised and the revised definition is as tabulated below:

SI No	Name of Location	District
	On SHU129 (Salem main road), Dharmapuri between SHU129 (Salem	
207	main road) – NH44 Junction and Govt Girls High School, Elakiyampatti.	Dharmapuri
	On SH118A, Govt Boys School, Somanathapuram and Magaral police	
88	station	Kancheepuram
	On RHS of SH -130A, from Thutipet Post office to SH130 – SH130A	
225	Junction.	Tirupathur
	On LHS of SH130A, from Palar river bridge to Panchayat Union Middle	
107	School, Chinnavarigam.	Tirupathur

The applicants are requested to peruse the above tabulated revisions prior to submission of application.

For the information of the applicants.

Kindly note that the following revisions are made to the advertisement for 'Selection of Dealers for Regular and Rural Retail Outlets in Tamil Nadu released in website www.mdsp.co.in on 29.07.2023:-

1. **Revision in minimum frontage in meters, depth in meters & area in sq. meters**: In line with the requirements of Highways & Minor Ports Department, Tamil Nadu, the minimum frontage, depth and area for the locations against serial number 1, 7, 10, 13, 26, 40, 44, 45, 46, 53, 54, 57, 58, 60, 63, 73, 74, 78, 79, 81, 82, 84, 85, 86, 87, 88, 91, 95, 96, 99, 100, 102, 103, 104, 105, 106, 107, 108, 112, 114, 115, 117, 118, 119, 120, 121, 123, 126, 127, 128, 130, 131, 132, 133, 134, 136, 139, 141, 143, 144, 145, 148, 149, 151, 152, 153, 154, 156, 158, 159, 160, 161, 163, 164, 165, 166, 167, 169, 170, 172, 173, 175, 177, 178, 181, 182, 189, 190, 191, 192, 194, 196, 197, 199, 200, 201, 204, 206, 207, 211, 215, 216, 217, 218, 219, 221, 222, 225, 226, 228, 229, 231, 232, 233, 234, 235, 236, 237, 241, 246, 247, 248, 249, 250, 251, 253, 255, 256, 260, 261, 262, 264, 265, 266, 268, 269, 270, 271, 272, 274, 278, 281, 283, 284, 286, 288, 290, 291, 292, 295, 297, 300, 301, 302, 303, 304, 305, 306, 307, 309, 310, 311, 312, 314, 316, 319, 321, 323, 324, 325, 326, 334, 335, 337, 338, 339, 341, 342, 343, 344, 345, 347, 354, 356, 357, 360, 361, 362, 363, 365, 366, 367, 368, 369, 370, 372, 373, 375, 376, 377, 378, 379, 380, 381, 382, 383, 384, 385, 386, 387, 388, 389, 390, 391, 392, 393, 394, 395, 396, 397, 398, 399, 400 are being revised as tabulated below.

Sl. No	Name of the Location	Min Frontage	Min Depth	Min Area
1	ON SH94, BETWEEN SWAMY VIVEKANADA MEDICAL COLLEGE HOSPITAL AND RESEARCH INSTITUTE, THIRUCHENGODU AND SH94-SH86 JUNCTION.	35	35	1225
7	ON SH157, BETWEEN POLICE STATION – PERAMBALUR AND NH136-SH157 JUNCTION.	35	35	1225
10	ON MDR979, BETWEEN ARULMIGU RANGANATHA SWAMY TEMPLE, KARAMADAI AND MDR979 - SH80 JUNCTION.	35	35	1225
13	ON MDR342, PATTUKOTAI RAILWAY STATION TO PRIME PUBLIC SCHOOL CBSE, ADIRAMPATTINAM.	35	35	1225
26	ON SH86, BETWEEN SENGUNTHAR COLLEGE OF EDUCATION, THARAMANGALAM AND WISDOM GATES MATRIC HR SEC SCHOOL, OMALUR.	35	35	1225
40	ON KALAPATTI MAIN ROAD, BETWEEN AVINASHI ROAD JUNCTION AND DR.NGP GROUP OF INSTITUTIONS.	35	35	1225
44	ON PERUNDURAI ROAD, BETWEENPERUNDURAI SIPCOT INDUSTRIAL ESTATE AND PERUNDURAI NEW BUS STAND.	35	35	1225
45	ON SH22, BETWEEN KAVERY MATRICULATION SCHOOL, KUMBAKONAM AND SWAMIMALAI POLICE STAION.	35	35	1225
46	ON SH5, BETWEEN WISDOM COLLEGE OF ARTS AND SCIENCE FOR WOMEN, CHEYYAR AND GOVT POLYTECHNIC COLLEGE - CHEYYAR.	35	35	1225
53	ON MDR 985 (PAPPAMPATTI ROAD) BETWEEN KALAIGNAR KARUNANIDHI INSTITUTE OF TECHNOLOGY, KANNAMPALAYAM AND MDR985-NH81 JUNCTION.	35	35	1225
54	ON SH190, FROM DISTRICT MUNISF COURT KODUMUDI, SALAIPUDUR TO SH84-SH190 JUNCTION AT KARUMANDAMPALAYAM.	35	35	1225
57	ON SH116, BETWEEN GOVT HR SEC SCHOOL, MAMANDUR AND MAHINDRA PROVING TRACK, CHEYYAR.	35	35	1225
58	ON SH166, WITHIN 5 KMS FROM GOVT HOSPITAL - AVINASHI TOWARDS SEVUR.	35	35	1225
60	ON SH60, BETWEEN GOVT HR SEC SCHOOL, KUNICHI AND SRI VIJAY SHANTHI JAIN MATRIC HR SEC SCHOOL, TIRUPATUR.	35	35	1225
63	ON MDR824, BETWEEN GOVERNMENT PRIMARY HEALTH CENTRE NAVALPATTU AND MDR824 & NH83 JUNCTION AT THIRUVERAMBUR.	35	35	1225
73	ON SH271 (SIRUVANI MAIN ROAD), BETWEEN THAVATHIRU SANTHALINGA ADIGALAR ARTS, SCIENCE AND TAMIL COLLEGE AND SIRUVANI MAINROAD – MDR 586 JUNCTION AT MADHAMPATTI.	35	35	1225
74	ON SH60, 4 KMS FROM PENNAGARAM JUDICIAL MAGISTRATE COURT TOWARDS HOGENAKKAL.	35	35	1225

Sl. No	Name of the Location	Min Frontage	Min Depth	Min Area
78	ON MDR461, BETWEEN KERALA AYURVEDA HOSPITAL, LINGAM NAGAR TO GOVERNMENT HIGH SCHOOL KULMANI.	35	35	1225
79	ON SH 128 (SHOLINGHUR-KAVERIPURAM RD), BETWEEN T.N.E.B EXECUTIVE ENGINEER OFFICE AND SH128-MDR794 JUNCTION.	35	35	1225
81	ON SH4, 3 KMS FROM D2. VALATHI POLICE STATION TOWARDS CHEPET.	35	35	1225
82	ON SH164, BETWEEN SH164-SH167 JUNCTION (EDAYARPALAYAM JN) AND KERATIMAN MATRIC HR SEC SCHOOL.	35	35	1225
84	ON SH70, BETWEEN SUB COLLECTOR OFFICE, MUSIRI AND SB MATRIC HR SEC SCHOOL.	35	35	1225
85	ON SH83, 3 KMS FROM NH381-SH83 JUNCTION AT DHARAPURAM TOWARDS PALANI.	35	35	1225
86	ON SH125 (PALLATHUR ROAD), BETWEEN LATTERI POLICE STATION (SH125-NH75 JUNCTION) AND K4 PANAMADANGI POLICE STATION.	35	35	122:
87	ON SH86, BETWEEN TALUK OFFICE, SANKAGIRI AND SRI SHANMUGA EDUCATIONAL INSTITUTIONS.	35	35	122
88	ON SH118A, GOVT BOYS SCHOOL, SOMANATHAPURAM AND MEGORAL POLICE STATION.	35	35	122
91	ON SH15, 6 KMS FROM VIJAYALAKSHMI MATRICULATION HIGHER SECONDARY SCHOOL, SIRUMUGAI TOWARDS METTUPALAYAM. ON SH81, BETWEEN NRKN HIGH SCHOOL, KUNNATHUR AND KUNNATHUR MUNICIPALITY	35	35	122
95	OFFICE. ON SH175, BETWEEN GOVT HOSPITAL ANTHIYUR AND MDR28-SH175 JUNCTION AT	35	35	122
96	ANNAMADUVU ROUNDANA. ON SH79, BETWEEN K.S RANGASAMY COLLEGE OF ARTS AND SCIENCE, THIRUCHENGODU	35	35	122
100	AND SH79-SH86 JUNCTION. ON SH4, BETWEEN AROT POLICE STATION AND SRI MAHALAKSHMI WOMEN'S COLLEGE	35 35	35	122
100	OF EDUCATION, ARCOT. ON SH86, 4 KMS FROM GOVT GIRLS HR SEC SCHOOL, THIRUCHENGODU TOWARDS	35	35	122
102	SANKAGIRI ON PALLIPET ROAD, BETWEEN DR.BR AMBEDKAR STATUE AT METTUPALAYAM,	35	35	122
104	VAANIYAMBADI AND THUMBERI KOOT ROAD BUS STOP. ON MDR978, BETWEEN BHAGIRATHI MEDICAL CENTRE & HOSPITAL AND GOVT HR SEC	35	35	122
105	SCHOOL, PANNIMADAI. ON MDR472, BETWEEN AS-SALAM COLLEGE OF ENGINEERING & TECHNOLOGY NH36-	35	35	122
106	MDR472 JUNCTION AT THIRUPANANDAL. ON SH110, BETWEEN TMG COLLEGE OF ARTS & SCIENCE AND SH110 – SH113 JUNCTION.	35	35	122
107	ON RHS OF SH130A, FROM PALAR RIVER BRIDGE TO PANCHAYAT UNION MIDDLE SCHOOL, CHINNAVARIGAM.	35	35	122
108	ON SH30, BETWEEN E4 POLICE STATION, THURAIYUR TO MAHATMA SCHOOL OF EXCELLENCE, THURAIYUR.	35	35	122
112	ON SH21, BETWEEN PONNAPURAM PANCHAYAT UNION OFFICE AND OOTHAMADAM TNEB SUBSTATION.	35	35	122
114	ON MDR871 (KARAIPUDUR MAIN ROAD) BETWEEN PARK'S COLLEGE CHINNIKARAI AND SH166-MDR871 JUNCTION AT VELAMPALAYAM. ON SH108 BETWEEN KV PATSHALA – CBSE SCHOOL AND TN-AP BORDER AT	35	35	122
115	KRISHNAMARAJAPURAM.	35	35	122
117	ON SH161, 4 KMS FROM SH161-NH381B JUNCTION TOWARDS ERUMAPATTI.	35	35	122
118	ON SH217, BETWEEN PANCHAYAT UNION OFFICE, SENDURAI AND PANCHAYAT UNION MIDDLE SCHOOL, MARUVATHOOR. ON VALAPPADI MAIN ROAD, 4 KMS FROM NH79-VALAPADDI MAIN ROAD JUNCTION TOWARDS	35 35	35	122
	PUTHIRAGOUNDAMPALAYAM VIA VALAPPADI POLICE STATION.			
120	ON SH131, BETWEEN BARGUR TALUK OFFICE AND SH131-NH48 JUNCTION.	35	35	122
121	ON SH58, BETWEEN ARAKKONAM RAILWAY SUB WAY AND KAL AARU BRIDGE,TAKKOLAM.	35	35	122
123	ON SH189, BETWEEN FIRE STATION, KODUMUDI AND SH84-SH189 JUNCTION NEAR KODUMUDI RAILWAY STATION.	35	35	122
126	ON MDR1041 (MINJUR PULICAT RD), GOVT SCHOOL THIRUVELLIVOYAL AND ISRAL MISSION MATRIC SEC. SCHOOL.	35	35	122
127	ON SH86A, BETWEEN THIRUCHENGODU NEW BUS STAND AND SENGUNDAR ARTS AND SCIENCE COLLEGE.	35	35	122
128	ON THURAIYUR BYEPASS ROAD, BETWEEN SH62-THURAIYUR BYEPASS JUNCTION ROUNDABOUT AND SH142- THURAIYUR BYEPASS JUNCTION.	35	35	122
130	ON SH78A, FROM RAMANATHAPURAM GOVT HIGH SCHOOL TO TN BORDER LIMITS.	35	35	122
131	ON SH63, 2 KM FROM THIRUTHURAIPOONDI RAILWAY CROSSING GATE TOWARDS MANNARGUDI.	35	35	122
132	ON SH65, BETWEEN KUDAMURTI RIVER BRIDGE AT KUDAVASAL AND ST.JOSHEP MATRICULATION SCHOOL, MOOLANGUDI - KUDAVASAL.	35	35	122
133	ON SH66, BETWEEN KUDAMURTI RIVER BRIDGE AT VELANGAIMAN AND GOVT. POLYTECHNIC COLLEGE, VALANGAIMAN.	35	35	122
134	ON SHI9, 5 KMS FROM TALUK OFFICE, PALLADAM TOWARDS KAMANAICKENPALAYAM.	35	35	122
136	ON SH97, BETWEEN NH83-SH97 JUNCTION AT KAMARAJAR STATUE, UDUMALAIPETTAI AND GOVT UNION MIDDLE SCHOOL, THANTHONI.	35	35	122

Sl No	Name of the Location	Min Frontage	Min Depth	Min Area
139	ON SHI9, BETWEEN ASSISTANT EXECUTIVE ENGINEER OFFICE – (AGRI ENGINEERING DEPT), POLLACHI AND AMBARAMPALAYAM BRIDGE.	35	35	1225
141	ON SH60, BETWEEN T.N SPECIAL POLICE VII BATTALION, POCHAMPALLI AND NOTRE DAME ACADEMY – ICSE.	35	35	1225
143	ON SANGAKIRI MAIN ROAD, BETWEEN NANDI CIRCLE, KONDALAMPATTI AND UTHAMASOLAPURAM THIRUMUTHAR RIVER.	35	35	1225
144	ON MDR607, BETWEEN JOTHIS COLLEGE OF ART AND SCIENCE AND RAILWAY CROSSING, PALLIKKUPPAM.	35	35	1225
145	ON SH57 BETWEEN SRIPERAMBUDUR SUB REGISTERAR OFFICE AND THODUKADU BRANCH POST OFFICE.	35	35	1225
148	ON SH4, BETWEEN FIRE STATION GINGEE AND TNEB ELECTRICAL SUBSTATION – SITTAMPUNDI.	35	35	1225
149	ON SH172, BETWEEN KANGEYAM BUS STAND AND JAYCEES MATRIC HR SEC SCHOOL, SIVANMALAI.	35	35	1225
151	ON SH 15, BETWEEN ERODE WEST REGIONAL TRANSPORT OFFICE AND SREE AMMAN ARTS & SCIENCE COLLEGE, CHITODE.	35	35	1225
152	ON SH96, BETWEEN FIRE STATION KANGEYAM AND PANCHAYAT UNION PRIMARY SCHOOL, ALAMBADI.	35	35	1225
153	ON SH80, BETWEEN, REVENUE INSPECTOR OFFICE (ANNUR NORTH DIV), ANNUR AND SH80- NH948 JUNCTION.	35	35	1225
154	ON SH50B BETWEEN NH48 – SH50B JUNCTION AND SH57 – SH50B JUNCTION. ON SH58A BETWEEN ANNA MAALIGAI – TANGEDCO SE OFFICE AND NH48-SH54A	35	35	1225
156	UN SH38A BE I WEEN ANNA MAALIGAI – TANGEDCO SE OFFICE AND NH48-SH34A JUNCTION.	35	35	1225
158	ON SH30, 4 KMS FROM THAMMAMPATTI BUS STAND TOWARDS MALLIAKARAI.	35	35	1225
159	ON SH198, BETWEEN REGIONAL TRANSPORT OFFICE AND SRI SATHIYANARAYANA HOSPITAL, KUMARAPALAYAM.	35	35	1225
160	ON SH222, BETWEEN SH86-SH222 JUNCTION AND SRI BALAMURUGAB ARTS AND SCIENCE COLLEGE, SATHAPPADI.	35	35	1225
161	ON SHI17, BETWEEN SHI17-NH32 JUNCTION AT MADURANTHAKAM AND RTO UNIT OFFICE MADURANTHAKAM.	35	35	1225
163	ON SH273, BETWEEN TOWN PANCHAYAT OFFICE KOLAPPALUR TO PANCHAYAT UNION PRIMARY SCHOOL, POOSARIYUR.	35	35	1225
164	ON MDR522, BETWEEN MDR522-SH163 JUNCTION AND KARPAGAM MEDICAL COLLEGE - RURAL HEALTH CENTRE, THEKANI.	35	35	1225
165	ON SH197, BETWEEN NH81-SH197 JUNNCTION BETWEEN VELLAKOIL AND MUNISIPALITY MIDDLE SCHOOL THEEETHAMPALAYAM, VELLAKOIL.	35	35	1225
166	ON SH220, BETWEEN GOVT HR SEC SCHOOL, VANAVASI AND SRI PERIYAMARIAMMAN TEMPLE, KATTINAICHENPATTI.	35	35	1225
167	ON SH 78, BETWEEN SH78-RAILWAY CROSSING JUNCTION AND TANMILNADU GOVT SUB HEALTH CARE CENTRE, PILCHINNAMPALAYAM.	35	35	1225
169	ON SH163, BETWEEN TNEB SUBSTATION, KARADIVAVI AND SH163-NH81 JUNCTION AT PALLADAM.	35	35	1225
170	ON SH68, 5 KMS FROM JOINT SUB REGISTRAR OFFICE, CUDDALORE TOWARDS PANRUTI.	35	35	1225
172	ON SH15, FROM SATHYAMANGALAM BUS STAND TO GOVT SCHOOL, PUDUKOTHUKADU.	35	35	1225
173	ON KEERANATHAM MAIN ROAD BETWEEN PPG COLLEGE OF NURSING AND KEERANATHAM PANCHAYAT OFFICE.	35	35	1225
175	ON SH 131, BETWEEN SRI AMRITHA HR SEC SCHOOL, PERIAKASINAIKANPATTI, TIRUPATHUR AND IVN GOVT BOYS HIGH SCHOOL, GAJALNAYACKANPATTI TIRUPATHUR.	35	35	1225
177	ON SH81, BETWEEN UTHUKULI SARVODHAYA SANGAM AND GOVT PRIMARY SCHOOL,	35	35	1225
178	CHENGAPPALLI. ON SH126, BETWEEN SH126-OCHALAN ROAD JUNCTION AND GOVT BOYS HIGH SCHOOL,	35	35	1225
181	ARAKKONAM. ON MDR877, BETWEEN MDR877-NH948 JUNCTION AT SARAVAVANAMPATTI AND DR.SNS	35	35	1225
182	RAJALAKSHMI COLLEGE OF ARTS AND SCIENCE. ON SH21, BETWEEN REVENUE DIVISIONAL OFFICE DHARAPURAM AND PRAKRUTHI PUBLIC SCHOOL. PANJAPATTY.	35	35	1225
189	ON SH161, 4 KMS FROM E6 POLICE STATION, THATHIENGARPET TOWARDS URAKKARAI.	35	35	1225
190	ON SH222, BETWEEN MECHERI BADRAKALI AMMAN TEMPLE AND MEENAMPARK VIDHYALAYA SCHOOL, MECHERI.	35	35	1225
191	ON SHI65, BETWEEN PSG HOSPITALS KARADIVAVI AND NH81-SHI65 JUNCTION AT KARANAMPETTAI.	35	35	1225
192	ON SH130, BETWEEN OOMERABAD POLICE STATION AND DR. MG RAMACHANDRAN STATUE, VENKATASAMUTHIRAM.	35	35	1225
194	ON SH82, BETWEEN BANNARIAMMAN INSTITUTE OF TECHNOLOGY AND SH82-NH948 JUNCTION (TIPPU SULTHAN ROAD CIRCLE)	35	35	1225
196	ON MDR598, BETWEEN SRM PUBLIC SCHOOL AND GOVT. PRIMARY HEALTH CENTRE, OTHIVAKKAM.	35	35	1225
197	ON NH136B, 10 KMS FROM MOOVALUR MOOTHATI RAMAMIRTHA AMMAIYAR GOVT HR SEC SCHOOL, MAYILADUTHURAI TOWARDS VAITHEESWARANKOIL.	35	35	1225
199	ON SHI63, BETWEEN SHI63-NH83 JUNCTION AT OKKILIPALAYAM AND LUKER ELECTRIC TECHNOLOGIES PRIVATE LTD.	35	35	1225
200	ON MDR489, BETWEEN GOVT HIGH SCHOOL, NARASIMHANAICKENPALAYAM AND GOVT HIGH SCHOOL, IDIGARAI.	35	35	1225

Sl No	Name of the Location	Min Frontage	Min Depth	Min Area
201	ON SH163, BETWEEN GOVT HR SEC SCHOOL, KALLAPALAYAM AND SELAKARACHAL BUS STOP NEAR MDR437 JUNCTION.	35	35	1225
204	ON SH 168, 3 KMS FROM SH168 – NH181 JUNCTION AT KARAMADAI TOWARDS KARIAMPALAYAM	35	35	1225
206	ON SH 23, BETWEEN NEW BHARATH MATRIC HR SEC SCHOOL AND VETTAR KANGALANCHERI BRIDGE.	35	35	1225
207	ON SALEM MAIN ROAD, DHARMAPURI BETWEEN SALEM MAIN ROAD – NH844 JUNCTION AND GOVT GIRLS HR SEC SCHOOL, ELAKIYAMPATTI	35	35	1225
211	ON SH6, BETWEEN GOVT GIRLS HR SEC SCHOOL - SANKARAPURAM AND TNEB SUB-STORE ISANKARAPURAM.	35	35	1225
215	ON TRICHY MAIN ROAD, BETWEEN ST. THERESA'S GIRLS HR SEC SCHOOL AND CHETTINAD COLLEGE OF ENGINEERING AND TECHNOLOGY.	35	35	1225
216	ON SH142, BETWEEN DHANALAKSHMI SRINIVASAN COLLEGE OF ENGINEERING AND GOVT HR SEC SCHOOL, PERAMBALUR.	35	35	1225
217	ON SH204, BETWEEN GOVT HR SEC SCHOOL, VIRUGAVOOR AND SH204-NH79 JUNCTION.	35	35	1225
218	ON SH9A, BETWEEN SH9A – NH79 JUNCTION AND SH9A – SH246 JUNCTION, THIYAGADURGAM.	35	35	1225
219		35	35	1225
221	ON SH48, 5 KMS FROM GENERAL ELECTRIC T&E, PADAPPAI TOWARDS MANNIVAKKAM. ON SH54, BETWEEN SIVARANJANI MATRICULATION SCHOOL AND MDR580 (MOTTUR	35	35	1225
222	ROAD)-SH54 JUNCTION. ON MDR1139, BETWEEN ADITHYA INSTITUTE OF TECHNOLOGY AND PANCHAYAT UNION	35	35	1225
222	MIDDLE SCHOOL, PACHAPALAYAM.	33	33	1223
225	ON LHS OF SH -130A, FROM THUTIPET POST OFFICE TO SH130 – SH130A JUNCTION.	35	35	1225
226	ON SH153, FROM SH153-NH381 JUNCTION AT DHARAPURAM TO ALANGIYAM POLICE STATION.	35	35	1225
228	ON MDR581 (THIROPORUR RD), BETWEEN DR.B.R.AMBEDKAR STATUE, THIROPORUR AND MDR633-MDR581 JUNCTION.	35	35	1225
229	ON SH223, BETWEEN SRI KAILASANATHAR THIRUKOIL, THARAMANGALAM AND UPGRADED GOVT PRIMARY HEALTH CENTRE, NANGAVALLI.	35	35	1225
231	ON SH113, BETWEEN CHENNAI INSTITUTE OF TECHNOLOGY AND MADHA ENGINEERING COLLEGE.	35	35	1225
232	ON MDR32, BETWEEN ARAKKONAM POLICE STATION AND MARY'S VISION MATRIC HR SEC SCHOOL.	35	35	1225
233	ON SH54, BETWEEN GOODLET HR SEC SCHOOL AND SRI BHARATHIVELU ARTS AND SCIENCE COLLEGE, SHOLINGUR.	35	35	1225
234	ON SH21, 5 KMS FROM MULANUR POLICE STATION TOWARDS DHARAPURAM.	35	35	1225
235	ON SH88, BETWEEN G.E.T B.ED COLLEGE TO KALLAPADI GOVT HOSPITAL, GUDIYATTAM.	35	35	1225
236	ON MDR 1038, BETWEEN MDR1038-SH196 JUNCTION AT POOKLUVAPATTI AND MDR1038-	35	35	1225
237	NH381 JUNCTION AT THIRUMURUGANPOONDI, TIRUPPUR. ON SH114, BETWEEN ST. MARY'S MATRIC HR SEC SCHOOL, REDHILLS AND GOVT MODEL	35	35	1225
241	HR SEC SCHOOL, ALAMATHI. ON SH129, BETWEEN GOVT GIRLS HR SEC SCHOOL, ARCOT AND GOVT UNION MIDDLE	35	35	1225
	SCHOOL, RAMANATHAPURAM, ARCOT.			
246	ON SH83A, BETWEEN DEPUTY SUPERINTENDENT OF POLICE OFFICE, KANGEYAM AND GOVT PRIMARY HEALTH CENTRE, KULLAMPALAYAM.	35	35	1225
247	ON SH6 (THIRUVANNAMALAI KALLAKURICHI ROAD), BETWEEN TNEB OFFICE MOONGILTHURAIPATTU AND VADAPONPARAPPI POLICE STATION.	35	35	1225
248	ON SH173, BETWEEN PETHAMPALAYAM GOVT HIGH SCHOOL AND THINGALUR POLICE STATION.	35	35	1225
249	ON SH54 BETWEEN CM ANNAMALAI POLYTECHNIC COLLEGE AND SH54-SH108 JUNCTION	35	35	1225
250	AT RAMAKRISHNARAJA PET. ON EACHANARI – CHETTIPALAYAM ROAD BETWEEN LARSEN & TOUBRO COIMBATORE	35	35	1225
251	HEALTH CENTRE AND ROAD JUNCTION AT SH162. ON SH29, BETWEEN PATTUKOTTAI ROUNDABOUT AT SH29-SH146 JUNCTION AND	35	35	1225
253	BRINDHAVAN HIGHER SECONDARY SCHOOL, SUKKIRANPATTI. ON SH30, 3 KMS FROM ATTUR POLICE STATION, TOWARDS THANDAVARAYAPURAM.	35	35	1225
255	ON SH69, BETWEEN DR. B.R. AMBEDKAR STATUE, VIRUDHACHALAM AND SENTHIL MATRIC HR SEC SCHOOL, PERIYAVADAVADI.	35	35	1225
256	MATRIC HR SEC SCHOOL, PERTYAVADAVADI. ON MDR623, BETWEEN MDR623-NH83 JUNCTION AT MALUMICHAMPATTI AND MDR623- SH163 JUNCTION AT CHETIPALAYAM.	35	35	1225
260		35	35	1225
261	ON MDR 675, 5 KMS FROM GOVT HIGH SCHOOL, VAIKAL PATRAI TOWARDS CHINNANUR. ON SHI62, BETWEEN LAKSHMI NARAYANA VISALAKSHI COLLEGE OF ARTS AND SCIENCE	35	35	1225
262	AND CHETTIPALAYAM PANCHAYAT OFFICE. ON MDR 823, BETWEEN MDR823-NH38 JUNCTION AND MANACHANALLUR SUB REGISTRAR	35	35	1225
264	OFFICE. ON SH127, BETWEEN DR.KRISHNASWAMY MATRICULATION SCHOOL AND STARTING OF	35	35	1225
265	RIVER PALAR BRIDGE (CONNECTING GUDIYATHAM – PALLIKONDA). ON MDR 421, BETWEEN REGIONAL TRANSPORT OFFICE, SALEM WEST AND SIVARAJ SIDDHA MEDICAL COLLEGE AND RESEARCH INSTITUTE, SALEM.	35	35	1225
				1

Sl No	Name of the Location	Min Frontage	Min Depth	Min Area
268	ON SH80 BETWEEN GOVT HR SEC SCHOOL, KARUVALUR AND GOVT UNION MIDDLE SCHOOL NARIYAMPALLI PUDUR.	35	35	1225
269	ON SH86, 4 KMS FROM MUNICIPALITY OFFICE THIRUCHENGODU TOWARDS CHITTALANDUR VIA THIRUCHENGODU RURAL POLICE STATION.	35	35	1225
270	ON SH87, BETWEEN NH83-SH87 JUNCTION AND GOVT UNION MIDDLE SCHOOL, CHINNAVEERAMPATTI (UDUMALAPET)	35	35	1225
271	ON SH54 BETWEEN KG KANDIGAI BUS STAND AND AGOOR BUS STOP.	35	35	1225
272	ON SH59 BETWEEN VIT- UNIVERSITY MAIN ENTRANCE AND SH59 – NH40 JUNCTION. ON SH70, 4 KMS FROM DR. B.R. AMBEDKAR STATUE, VIRUDHACHALAM TOWARDS	35	35	1225
274	ON SH202, BETWEEN NH83-SH202 JUNCTION AT THIRUVARUR AND GOVERNMENT	35	35	1225
278	ON MDR306, BETWEEN MDR306-NH83 JUNCTION AND CHELLAMAL MATRIC HR SEC	35	35	1225
281	SCHOOL, VENGUR. ON SHI5A, BETWEEN NAMBIYUR ELECTRICAL POWER STATION AND GOVT ELEMENTARY	35	35	1225
283	SCHOOL PUDHUSURIPALAYAM, NAMBIYUR.	35	35	1225
284	ON SH61 – BETWEEN WALAJAPET POST OFFICE AND SH61-MDR401 JUNCTION, ON SH84, 7 KMS FROM REGIONAL TRANSPORT OFFICE ERODE EAST TOWARDS	35	35	1225
286	GANAPATHIPALAYAM.	35	35	1225
288	ON SH58, BETWEEN REGIONAL TRANSPORT OFFICE THIRUKAZHUKUNDRAM AND FIRE STATION THIRUKAZHUKUNDRAM.	35	35	1225
290	ON SH99A, BETWEEN REGIONAL JOINT REGISTRAR OF COOPERATIVE SOCIETIES OFFICE AND PERIYAR MANIYAMMAI INSTITUTE OF SCIENCE AND TECHNOLOGY ENTRANCE.	35	35	1225
291	ON SH86, BETWEEN SANKAGIRI OLD BUS STAND AND SH86-NH544 FLYOVER JUNCTION.	35	35	1225
292	ON SH193, 3 KM FROM SUB REGIONAL TRANSPORT OFFICE, ARAVAKURICHI TOWARDS PALLAPATTI.	35	35	1225
295	ON SH274, BETWEEN SH274-NH544 JUNCTION AT PERUNDURAI AND SH274-SH173 JUNCTION AT KARUNGARADU.	35	35	1225
297	ON SH220, BETWEEN GOVT ARTS AND SCIENCE COLLEGE, IDAPPADI AND DIVISIONAL ENGINEER OFFICE - HIGHWAY DEPT, IDAPPADI.	35	35	1225
300	ON SH137, BETWEEN AVNC GOVT HIGHER SEC SCHOOL, ARIYUR AND THALUK OFFICE-THIRUKKOYILUR.	35	35	1225
301	ON SH165, 2 KMS FROM KOUSIHA RIVER BRIDGE TOWARDS ANNUR.	35	35	1225
302	ON SH118, BETWEEN UTHIRAMERUR TALUK OFFICE AND SH118-MDR789 JUNCTION AT NELVOY.	35	35	1225
303	ON SH6, 5 KMS FROM NH79-SH9 JUNCTION AT KALLAKURICHI TOWN TOWARDS SANKARAPURAM.	35	35	1225
304	ON SH9A, BETWEEN MANALURPET GOVT REGULATED AGRICULTURAL MARKET AND MANALURPET POLICE STATION, TIRUKKOYILUR TALUK.	35	35	1225
305	ON SH84, 2 KMS FROM NEW BUS STAND KODUMUDI TOWARDS VENGAM PUDUR.	35	35	1225
306	SH4A, BETWEEN AVALURPET ART& SCIENCE COLLEGE AND GOVT GIRLS HIGH SCHOOL, AVALURPET	35	35	1225
307	ON LHS OF SH56, FROM NH16-SH56 JUNCTION TO SRIDEVI EDUCATIONAL INSTITUTIONS, PONNERI.	35	35	1225
309	ON SH188, 4 KMS FROM SALEM CENTRAL JAIL TOWARDS YERCAUD.	35	35	1225
310	ON SHI47, BETWEEN PERALAM POLICE STATION TO SH23-SHI47 JUNCTION AT KOLLUMANGUDI.	35	35	1225
311	ON SHI13A, BETWEEN OTHAKAADU ELLAIAMMAN TEMPLE AND KUNDRATHUR TALUK OFFICE.	35	35	1225
312	ON SHI40, BETWEEN SRI LAKSHMI COLLEGE OF EDUCATION AND MODERN GROUP OF INSTITUTION, JAYANKONDAN.	35	35	1225
314	ON SH140, 7 KMS FROM GOVT I.T.I, ANDIMADAM TOWARDS VIRUDHACHALAM.	35	35	1225
316	ON NH336, 7 KMS FROM DISTRICT POLICE OFFICE, TIRUCHIRAPPALLI TOWARDS KUMARAMANGALAM.	35	35	1225
319	ON SH226, BETWEEN GOVT HR SEC SCHOOL, BERIGAI AND GOVT HIGH SCHOOL, MUDUGURIKI.	35	35	1225
321	ON SHI96, BETWEEN GOVT GIRLS HR SEC SCHOOL, PERUNDURAI AND SHI96-NH544 FLYOVER JUNCTION SERVICE ROAD.	35	35	1225
323	ON PATCHUR-KOTHUR ROAD, BETWEEN NH48 JUNCTION AND PATCHUR RAILWAY STATION.	35	35	1225
324	ON MDR13, BETWEEN SH19-MDR13 JUNCTION AND OXFORD MATRIC HR SEC SCHOOL, ANAIMALAI.	35	35	1225
325	ON SH4 BETWEEN BALAJI CHOKKALINGAM ENGG COLLEGE ARNI AND ARIGNAR ANNA HR SEC SCHOOL - THAMARAIPAKKAM.	35	35	1225
326	ON SHI21, BETWEEN VELLORE INSTITUTE OF TECHNOLOGY, CHENNAI AND CHETTINAD HOSPITAL AND RESEARCH CENTRE, VANDALUR GATE KELAMBAKKAM.	35	35	1225
334	ON MDR605, BETWEEN GOVT HR SEC SCHOOL, BHUJANGANUR AND MDR605-NH181 JUNCTION AT KARAMADAI.	35	35	1225
335	ON SH115, BETWEEN ALFREDO CUOMO HIGHER SEC SCHOOL, SENDIVAKKAM AND BRAKES	35	35	1225

SI No	Name of the Location	Min Frontage	Min Depth	Min Area
337	ON SH58, BETWEEN ARAKKONAM FIRE STATION AND SH58-MDR792 JUNCTION.	35	35	1225
338	ON SH84, BETWEEN SH84-NH81 JUNCTION AND THE KARUR POLYTECHNIC COLLEGE.	35	35	1225
339	ON SH19, BETWEEN SH19-NH83 JUNCTION AND SWASTIK MATRICULATION SCHOOL, CHINNERIPALAYAM, POLLACHI.	35	35	1225
341	ON SH96, FROM PERUNDURAI OLD BUS STAND CIRCLE TO INGUR RAILWAY BRIDGE.	35	35	1225
342	ON SH196, BETWEEN SH196-MDR1038 JUNCTION AND GOVT HIGH SCHOOL PERUMANALLUR.	35	35	1225
343	ON SH99, BETWEEN GOVT. HOSPITAL THIRUKKATUPALLI AND FOUR ROAD JUNCTION ROUNDANA AT BUDALUR.	35	35	1225
344	BETWEEN INTERSECTION OF NH-48 AT KANDANERI, AND MOOLIGATE JUNCTION ON GOLDEN TEMPLE ROAD. (NOT ON SH AND NH)	35	35	1225
345	ON SH147, BETWEEN SH147-SH66 JUNCTION AND THIRUNAGESWARAM NAGANATHA SWAMY TEMPLE.	35	35	1225
347	ON SH57, 4 KMS FROM SH57-NH179B JUNCTION AT SINGAPERUMALKOIL TOWARDS ORAGADAM.	35	35	1225
354	ON SH82, BETWEEN SRI VIDYA MATRIC SCHOOL, BAVANI AND JAMBAI TOWN PANCHAYAT OFFICE.	35	35	1225
356	ON SH57, BETWEEN NH48 – SH57 JUNCTION AND ORAGADAM FLYOVER JUNCTION BUS STOP.	35	35	1225
357	ON SH140, FROM NH81-SH140 JUNCTION TO MODERN GROUP OF INSTITUION, MAHIMAIPURAM	35	35	1225
360	ON SH62, BETWEEN C5 POLICE STATION, MANNACHANALLUR AND POONAMPALAYAM MIYAWAKI FOREST.	35	35	1225
361	ON SH165, BETWEEN LITERACY MISSION MATRIC HR SEC SCHOOL AND SH165-NH81 JUNCTION AT KARANAMPETTAI.	35	35	1225
362	ON SH29, BETWEEN SEETHARAM INTERNATIONAL SCHOOL, ORATHANADU AND DHARMAMBAL RAMASAMY ARTS AND SCIENCE COLLEGE.	35	35	1225
363	ON SH21, BETWEEN POLLACHI INSTITUTE OF ENGINEERING AND TECHNOLOGY AND SH21-NH83 JUNCTION NEAR UNJAVELANPATTI PIRIVU	35	35	1225
365	ON SH120, BETWEEN WALAJABAD (SH120 – NH132B) JUNCTION AND SH120-SH48 JUNCTION.	35	35	1225
366	ON SH9A, BETWEEN GOVT HR SEC SCHOOL, KATTAMPOONDI AND GOVT HR SEC SCHOOL, THACHAMPATTU - THIRUVANNAMALAI.	35	35	1225
367	ON SH166, BETWEEN CHANAKYA INTERNATIONAL SCHOOL, PUNJAI PULIAMPATTI, AND NH948-SH166 JUNCTION.	35	35	1225
368	ON SH122, VELLORE – ODUGATHUR ROAD BETWEEN PURATCHI THALAIVAR DR. MGR GOVERNMENT ARTS AND SCIENCE COLLEGE, MADHANOOR TO DC KUPPAM BUS STOP.	35	35	1225
369	ON SH81, 3 KMS FROM SH81-SH15 JUNCTION AT GOBI BUS STAND TOWARDS KUNNATHUR.	35	35	1225
370	ON SH6A, 4 KMS FROM SH6A-NH179A JUNCTION AT HARUR TOWARDS KILANUR.	35	35	1225
372	ON SH61, BETWEEN ARAKKONAM BUS STAND AND GOVT HR SEC SCHOOL, KUMPINIPET.	35	35	1225
373	ON SH 172, BETWEEN ST JOSEPH MATRIC HR SEC SCHOOL, TIRUPPUR AND GOVT MIDDLE SCHOOL, NACHIPALAYAM.	35	35	1225
375	ON SH115 BETWEEN GOVT HOSPITAL VANDAWASI AND KODUNGALUR POLICE STATION,	35	35	1225
376	ON MDR653, BETWEEN KAMARAJAR GOVERNMENT HOSPITAL, PERAVURANI TO GOVT	35	35	1225
377	HIGH SCHOOL KONDRIKKADU- KALAGAM, PERAVURANI. ON MDR851, 3 KMS FROM MDR851-NH44 JUNCTION NEAR KADAYAMPATTI TOWARDS	35	35	1225
270	DANISHPET. ON MDR-848, 3 KMS FROM MDR848-NH79 JUNCTION TOWARDS VEERAGANUR, SALEM.	25	25	1225
378 379	ON MDR-848, 3 KMS FROM MDR848-NH/9 JUNCTION TOWARDS VEERAGANUR, SALEM. ON MDR861, 6 KMS FROM MDR861-SH17 JUNCTION AT PALACODE TOWARDS KAVERIPATTINAM.	35 35	35 35	1225
380	ON VILAR ROAD, 3 KMS FROM BON SECOURS COLLEGE TOWARDS VILAR.	35	35	1225
381	ON KALLANKURICHI ROAD, BETWEEN NH136-KALLANKURICHI RAOD JUNCTION AND SRI RITHIGAA NIKETHAN NURSERY AND PRIMARY SCHOOL, KALLANKURICHI.	35	35	1225
382	ON MDR 594, BETWEEN NH44-MDR594 JUNCTION AT GEJJALNAYAKKANPATTI AND GOVT HIGHER SEC SCHOOL, PANAMARATHUPATTI.	35	35	1225
383	ON MDR 108, SH96-MDR 108 JUNCTION AT CHENNIMALAI AND SHEMFORD FUTURISTIC SCHOOL.	35	35	1225
384	ON MDR-713, 2 KMS FROM PANCHAYAT UNION ELEMENTARY SCHOOL – VAGARAYAMPALAYAM TOWARDS ANNUR.	35	35	1225
385	ON MDR754, BETWEEN SHRI MARUTHI MATRICULATION HIGHER SECONDARY SCHOOL AND PANCHAYAT UNION OFFCE, VEPPANAMPALLI.	35	35	1225
386	ON MDR1110, BETWEEN PALAR RIVER BRIDGE AND ULLI KOOT ROAD AT SH130-MDR1110 JUNTION.	35	35	1225
387	ON MDR134, 7 KMS FROM MDR134-NH544 JUNCTION TOWARDS PAPPAMBADI VIA ELAMPILLAI .	35	35	1225
388	ON MDR13, BETWEEN GOVT HIGHER SEC SCHOOL ANAIMALAI AND GOVT HOSPITAL VETTAIK ARANPUDUR.	35	35	1225
389	ON MDR 1013, BETWEEN GOVERNMENT HIGH SCHOOL THOTTIYAM (KALLAKURICHI) AND	35	35	1225

SI No	Name of the Location	Min Frontage	Min Depth	Min Area
390	ON MDR653, BETWEEN GRAND ANAICUT CANAL BRIDGE AT AYINGUDI AND SRI VENKATESHWARA COLLEGE OF ARTS AND SCIENCE FOR WOMEN, PERAVURANI.	35	35	1225
391	ON MDR672, BETWEEN MDR672-SH137 JUNCTION, ERAIYAR AND MAHAMARIAMMAN TEMPLE, VADAKURUMBUR.	35	35	1225
392	ON MDR1077, BETWEEN LAWRENCE SCHOOL, LOVEDALE AND NH181-MDR1077 JUNCTION.	35	35	1225
393	ON MDR22, BETWEEN SUGUNA INSTITUTE OF POULTRY MANAGEMENT AND MDR22-NH83 JUNCTION.	35	35	1225
394	ON MDR995, BETWEEN PANCHAYAT UNION MIDDLE SCHOOL, KAIRBETTA AND UPGRADED PRIMARY HEALTH CENTRE, KODANADU.	35	35	1225
395	ON MDR22, ANAIMALAI-POOLANKINAR ROAD BETWEEN NALLAMUTHU GOUNDER NACHIMUTHU GOUNDER HR SEC SCHOOL, AND SH78-MDR22 JUNCTION.	35	35	1225
396	ON NALLUR ROAD, BETWEEN NALLUR ROAD – NH648 JUNCTION AND NALLUR BIG LAKE.	35	35	1225
397	ON KOILPALAYAM TO KARUVALUR ROAD, KOVILPALAYAM BETWEEN KMCH KOVILPALAYAM HOSPITAL AND KOVAI VIDHYASHRAM CBSE SCHOOL, KOVILPALAYAM.	35	35	1225
398	ON MDR70, BETWEEN FIRE STATION CHENNIMALAI AND MDR70-SH83A JUNCTION AT ARACHALUR.	35	35	1225
399	ON MDR354, BETWEEN AKSHARA VIDHYASHRAM SCHOOL (TATA GROUPS) AND TN- KERALA BORDER AT MALAKKAPARA CHECKPOST.	35	35	1225
400	ON AVARANGUPPAM ROAD AND RAMANAIKENPET ROAD BETWEEN SRI PUTHUMARIAMMAN TEMPLE (THEKKUPATTU), AND THEKKUPATTU PANCHAYAT UNION MIDDLE SCHOOL.	35	35	1225

2. **Revision in Definition of Location**: The definition of location 86 has been revised and the revised definition is as below:

Sl No	Name of the Location
86	On SH125 (Pallathur road), between Latteri Police Station (SH125-NH75 Junction) and
	K4 panamadangi police station.

The applicants are requested to peruse the above tabulated revisions prior to submission of application.

For the information of the applicants.